
RVM SERIES
PACKAGED WATER PRESSURE SYSTEMS
UP TO 40m3/hr

P R O D U C T
D E S C R I P T I O N

RVM pumpsets are a single pump
packaged system that comes in three
versions.

1. RVM Water Pressure System
2. RVM Water Pressure System

with LOP Control Box
3. RVM Remote Start/LOP Pump Set

A P P L I C AT I O N S

Automatic water pressure system for:
• Irrigation & turf watering
• Stock watering
• Water supply, boosting & transfer
• Industrial applications
• Water treatment

O P E R AT I N G  L I M I T S

Capacities to 11 l/s ( 40m3/hr)

Pressure heads to 160 m

Maximum liquid
temperature +70oC (tank)

Maximum ambient
temperature +40oC

Maximum inlet Limited by max.
pressure operating pressure

Maximum operating pressure
with 105C Tank 70m/700kPa

Maximum operating pressure
with HP105C Tank 105m/1050kPa

Maximum operating pressure
with HP24+ Tank 160m/1600kPa

Suitable Fluids
Clean, clear, non-corrosive, non-
flammable liquids with no fibres and
little sand/silica or abrasives (maximum
concentration 40g/m3).

PACKAGED WATER
PRESSURE SYSTEMS

I D E N T I F I C AT I O N  O F  T H E  P U M P  S E T

RVM 3 - 8   A/3 - 24 - L

Control Box
L = LOP control box
LSS = LOP control box with soft starter
LR = Remote start LOP control box
LSR = Remote start LOP control box with soft starter

Size of pressure tank
24 = HP24 + 24 litre tank
105 = 105C, or HP105C (when required) 105 litre tank
Blank = no tank (only with remote start models)

Motor fitted
Blank = Single phase
/3 = Three phase

Impeller variation
(A =  manufacture turndown)

Number of stages

Nominal capacity at BEP in m3/hr

RVM Pump Set

T E C H N I C A L  S P E C I F I C AT I O N S T E C H N I C A L  S P E C I F I C AT I O N S

1. RVM Water Pressure System

2. RVM Water Pressure System with LOP Control Box

3. RVM Remote Start/LOP Control Box

WAT E R  P R E S S U R E  S Y S T E M  W I T H  2 4  L I T R E  TA N K

WAT E R  P R E S S U R E  S Y S T E M  W I T H  L O P  C O N T R O L  B O X  A N D  2 4  L I T R E  TA N K

WAT E R  P R E S S U R E  S Y S T E M  W I T H  1 0 5  L I T R E  TA N K

WAT E R  P R E S S U R E  S Y S T E M  W I T H  L O P  C O N T R O L  B O X  A N D  1 0 5  L I T R E  TA N K

R E M O T E  S TA R T / L O P  P U M P  S E T

Specific dimensions for each model available on request. Davey reserves the right to change dimensions and configurations without notice.

Specific dimensions for each model available on request. Davey reserves the right to change dimensions and configurations without notice.

Loss of
Prime

Protection

Loss of
Prime

Protection
Remote

Start

DPM248-2a/3K/1110/IPM supercedes DPM248-2/3K/1110/IPM

Davey Water Products Pty Ltd
Member of the GUD Group
ABN 18 066 327 517

AUSTRALIA
Head Office and Manufacturing
6 Lakeview Drive,
Scoresby, Australia 3179
Ph: +61 3 9730 9222
Fax: +61 3 9753 4100
Website: davey.com.au

Customer Service Centre
Ph: 1300 369 100
Fax: 1300 369 119
E-mail: sales@davey.com.au

NEW ZEALAND
7 Rockridge Avenue,
Penrose, Auckland 1061
Ph: +64 9 570 9135
Fax: +64 9 527 7654
E-mail: sales@daveynz.co.nz
Website: daveynz.co.nz

Customer Service Centre
Ph: 0800 654 333

REST OF WORLD
6 Lakeview Drive,
Scoresby, Australia 3179
Ph: +61 3 9730 9121
Fax: +61 3 9753 4248
E-mail: export@davey.com.au
Website: davey.com.au

This literature is not a complete guide to product usage. Further information is available from your Davey dealer, Davey Customer Service Centre and from
the relevant product Installation and Operating Instructions. This data sheet must be read in conjunction with the relevant product Installation and
Operating Instructions and all applicable statutory requirements.  Product specifications may change without notice.
® Davey is a registered trademark of Davey Water Products Pty Ltd.  © Davey Water Products Pty Ltd 2011.

Environment
ISO 14001

H
/O

 &
 M

F
G

 S
C

O
R

E
S

B
Y

Quality
ISO 9001

H
/O

 &
 M

F
G

 S
C

O
R

E
S

B
Y



T E C H N I C A L  S P E C I F I C AT I O N S T E C H N I C A L  S P E C I F I C AT I O N S T E C H N I C A L  S P E C I F I C AT I O N S

H Y D R A U L I C  P E R F O R M A N C E

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

10

20

30

40

50

60

70

80

90

100

110

120

130

140

150

160

170

180

0 1 2 3 4 5 6 7 8 9 10 11 12 13

0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.2 2.4 2.6 2.8 3.0 3.2 3.4 3.6

VM10-4 (1.5)
VM10-5 (2.2)

VM10-6 (2.2)

VM10-7 (3.0)

VM10-8 (3.0)

VM10-9 (4.0)

VM10-10 (4.0)

VM10-12 (5.5)

VM10-14 (5.5)

VM10
50Hz

0.0

0.2

0.4

0.6

0.8

1.0

TOTAL HEAD (m)P(MPa)

0

10

20

30

40

50

60

70

80

90

100

110

Q(m3/hr) 0 2 4 6 8 10 12 14 16 18 20 22 24

Q(l/s) 0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 5.5 6.0 6.5

VM16-2 (2.2)

VM16-3 (3.0)

VM16-4 (4.0)

VM16-5 (5.5)

VM16-6 (5.5)

VM16
50Hz

V M 1 0 ,  2  P O L E  5 0 H z V M 1 6 ,  2  P O L E  5 0 H z

TOTAL HEAD (m)P(MPa)

0.0

0.2

0.4

0.6

0.8

1.0

0

20

40

60

80

100

120

Q(m3/hr) 0 4 8 12 16 20 24 28 32 36 40 44

Q(l/s) 0 2 4 6 8 10 12

VM32-2A (4.0)

VM32-3 (5.5)

VM32-4 (7.5)

VM32
50Hz

V M 3 2 ,  2  P O L E  5 0 H z

RVM Water Pressure System
The packaged water pressure version consists of a Davey VM vertical multistage pump, with the choice of
either a 24 litre, or 105 litre pressure tank, manifold, adjustable pressure switch, liquid filled pressure gauge,
check and isolation valves all mounted on a common base plate. (Note: the 105 litre tank is free standing).

RVM Water Pressure System with Loss-of-Prime Protection
The loss-of-prime version uses all of the components of the water pressure version and adds a control box
and flow switch. This provides the benefit of protecting the pump in no-flow situations, such as loss-of-
prime and dead head.  

The control box offers Auto, Off and Manual control. Manual control will automatically switch over to
Automatic control after 2.5 minutes in order to ensure pump protection.

The control box provides indicators such as Power On, Pump Run, Low Flow Alarm and Pump Overload.  In
a fault condition, the control box provides a light and audible alarm. The audible alarm ceases after 5 minutes.

Because the system is started by pressure and stopped on flow, it is able to provide continuing, though
partial, automatic operation in situations where the pump is unable to make the cut-out pressure point.
For example, where some rubbish has been sucked into the suction line to cause partial restriction. While
the alarm will be activated, the pump will restart so long as there is some flow demand.

RVM Remote Start/LOP Pump Set 
The remote start/LOP version includes a Davey VM vertical multistage pump, manifold, liquid filled
pressure gauge, remote start control box, flow switch, check and isolation valves all mounted on a
common base.

The pump is turned on and off by a 24VAC signal to the control box, which is ideal for use with irrigation
controllers and external sensors.  The control box provides pump protection in no-flow situations, such
as loss of prime or stuck closed irrigation valve.

Fully Assembled
Systems are supplied fully assembled for ease of mounting – Supercell 105C tanks are supplied free
standing. Optional 304 stainless steel base plates are also available.

Extra Low Voltage Controls
All pressure and flow switches for LOP models are 5VDC for added safety and ease of maintenance.

Plug in and Pump
All 240V single phase units up to 2.2kW come completely pre-wired with power leads and three pin plug
for connection to G.P.O. – no need for an electrician on site. Larger single phase and all three phase units
simply require connection to power by an electrician.

DOL or Soft Start
All 5.5 and 7.5kW, three phase units are available in both DOL or soft start versions to satisfy the
requirements of various power authorities.

Proven Dependability
The Davey VM pumps and supercell tanks have proven themselves around the world. All VM vertical
multistage pump hydraulic parts are manufactured from 304 stainless steel, providing corrosion protection.

High Efficiency
Powered by an IP55 motor suitable for some of the harshest operating conditions.  All three phase motors
comply with the high efficiency MEPS (Minimum Energy Performance Standards) requirements.

F E AT U R E S  &  B E N E F I T S

C O M M O N  F E AT U R E S  &  B E N E F I T S

NOTE:  CURVE TOLERANCE IN CONFORMITY WITH ISO9906 APPENDIX A. NOTE:  CURVE TOLERANCE IN CONFORMITY WITH ISO9906 APPENDIX A.

FLC Start/LRC Bearings
Motor Frame IP Rating 240 V Ratio RPM Eff % Drive End Non-D/End

0.75 80 V18 IP55 4.38 5.83 2815 72 6204-ZZ 6204-ZZ
1.1 80 V18 IP55 6.38 5.65 2830 75 6204-ZZ 6204-ZZ
1.5 90 V18 IP55 8.08 5.57 2850 76 6205-ZZ 6205-ZZ
2.2 90 V18 IP55 12.0 4.59 2830 77 6205-ZZ 6205-ZZ
3.0 100 V18 IP55 18.0* 5.0 2870 81 6206-ZZ 6205-ZZ
4.0 112 V18 IP55 22.0* 6.4 2910 84 6207-ZZ 6206-ZZ

M O T O R  T E C H N I C A L  S P E C I F I C AT I O N S

*For 480V single phase operation multiply by 0.5.

FLC Start/LRC Bearings
Motor Frame IP Rating 415 V Ratio RPM Eff % Drive End Non-D/End

0.75 80 V18 IP55 1.6 5.5 2800 89.0 6204-ZZ 6204-ZZ
1.1 80 V18 IP55 2.2 6.2 2828 82.4 6204-ZZ 6204-ZZ
1.5 90 V18 IP55 3.1 5.3 2800 78.0 6205-ZZC3 6205-ZZC3
2.2 90 V18 IP55 4.2 6.7 2800 85.0 6205-ZZC3 6205-ZZC3
3 100 V18 IP55 5.7 6.8 2853 86.2 6206-ZZC3 6206-ZZC3
4 112 V18• IP55 7.3 6.7 2902 86.8 6306-S 6306-S
5.5 132 V1• IP55 9.8 7.4 2916 89.9 7308B 6308ZZC3
7.5 132 V1• IP55 13.3 7.4 2892 87.0 7308B 6308ZZC3

•Special motor bearings fitted for thrust management.

H Y D R A U L I C  P E R F O R M A N C E

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

20

40

60

80

100

120

140

160

0.0 0.4 0.8 1.2 1.6 2.0 2.4 2.8 3.2 3.6 4.0 4.4

0.0 0.2 0.4 0.6 0.8 1.21.0

VM3
50Hz

VM3-8 (0.75)

VM3-12 (1.1)

VM3-15 (1.5)

VM3-17 (1.5)

VM3-19 (2.2)

VM3-23 (2.2)

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

1.8

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

10

20

30

40
50

60

70
80

90
100
110

120

130

140

150

160

170

180

190

200

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 5.5 6.0 6.5 7.0 7.5 8.0 8.5

0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.2

VM5-5 (1.1)

VM5-7 (1.5)

VM5-8 (1.5)

VM5-10 (2.2)

VM5-12 (3.0)

VM5-14 (3.0)

VM5-16 (3.0)

VM5
50Hz

V M 3 ,  2  P O L E  5 0 H z V M 5 ,  2  P O L E  5 0 H z M AT E R I A L S  O F  C O N S T R U C T I O N

PA R T M AT E R I A L

Pump attachment base

Suction & discharge casing

Motor support lantern

Impellers

Stages (casing)

Outside sleeve

Pump shaft

Intermediate bearing

Mechanical seal

Orings (casing)

Plugs (drainage & priming)

Impeller neck rings

Cast iron

304 stainless steel

Cast iron

304 stainless steel

304 stainless steel

304 stainless steel

316L stainless steel

Tungsten carbide

Silicon carbide/carbon/EPDM

EPDM

316L stainless steel

Teflon

NOTE: 304 stainless steel, (Z6 CN 18.9) and 316L
stainless steel (Z2 CND 17.12) are recommended
materials that are highly resistant to corrosion.
Suitable for pumping clean, clear non-viscous liquids,
containing no fibres or solids.  Maximum sand/silica
concentration 40 g/m3.

* Special version with 316L stainless steel & viton orings on request



T E C H N I C A L  S P E C I F I C AT I O N S T E C H N I C A L  S P E C I F I C AT I O N S T E C H N I C A L  S P E C I F I C AT I O N S

H Y D R A U L I C  P E R F O R M A N C E

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

10

20

30

40

50

60

70

80

90

100

110

120

130

140

150

160

170

180

0 1 2 3 4 5 6 7 8 9 10 11 12 13

0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.2 2.4 2.6 2.8 3.0 3.2 3.4 3.6

VM10-4 (1.5)
VM10-5 (2.2)

VM10-6 (2.2)

VM10-7 (3.0)

VM10-8 (3.0)

VM10-9 (4.0)

VM10-10 (4.0)

VM10-12 (5.5)

VM10-14 (5.5)

VM10
50Hz

0.0

0.2

0.4

0.6

0.8

1.0

TOTAL HEAD (m)P(MPa)

0

10

20

30

40

50

60

70

80

90

100

110

Q(m3/hr) 0 2 4 6 8 10 12 14 16 18 20 22 24

Q(l/s) 0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 5.5 6.0 6.5

VM16-2 (2.2)

VM16-3 (3.0)

VM16-4 (4.0)

VM16-5 (5.5)

VM16-6 (5.5)

VM16
50Hz

V M 1 0 ,  2  P O L E  5 0 H z V M 1 6 ,  2  P O L E  5 0 H z

TOTAL HEAD (m)P(MPa)

0.0

0.2

0.4

0.6

0.8

1.0

0

20

40

60

80

100

120

Q(m3/hr) 0 4 8 12 16 20 24 28 32 36 40 44

Q(l/s) 0 2 4 6 8 10 12

VM32-2A (4.0)

VM32-3 (5.5)

VM32-4 (7.5)

VM32
50Hz

V M 3 2 ,  2  P O L E  5 0 H z

RVM Water Pressure System
The packaged water pressure version consists of a Davey VM vertical multistage pump, with the choice of
either a 24 litre, or 105 litre pressure tank, manifold, adjustable pressure switch, liquid filled pressure gauge,
check and isolation valves all mounted on a common base plate. (Note: the 105 litre tank is free standing).

RVM Water Pressure System with Loss-of-Prime Protection
The loss-of-prime version uses all of the components of the water pressure version and adds a control box
and flow switch. This provides the benefit of protecting the pump in no-flow situations, such as loss-of-
prime and dead head.  

The control box offers Auto, Off and Manual control. Manual control will automatically switch over to
Automatic control after 2.5 minutes in order to ensure pump protection.

The control box provides indicators such as Power On, Pump Run, Low Flow Alarm and Pump Overload.  In
a fault condition, the control box provides a light and audible alarm. The audible alarm ceases after 5 minutes.

Because the system is started by pressure and stopped on flow, it is able to provide continuing, though
partial, automatic operation in situations where the pump is unable to make the cut-out pressure point.
For example, where some rubbish has been sucked into the suction line to cause partial restriction. While
the alarm will be activated, the pump will restart so long as there is some flow demand.

RVM Remote Start/LOP Pump Set 
The remote start/LOP version includes a Davey VM vertical multistage pump, manifold, liquid filled
pressure gauge, remote start control box, flow switch, check and isolation valves all mounted on a
common base.

The pump is turned on and off by a 24VAC signal to the control box, which is ideal for use with irrigation
controllers and external sensors.  The control box provides pump protection in no-flow situations, such
as loss of prime or stuck closed irrigation valve.

Fully Assembled
Systems are supplied fully assembled for ease of mounting – Supercell 105C tanks are supplied free
standing. Optional 304 stainless steel base plates are also available.

Extra Low Voltage Controls
All pressure and flow switches for LOP models are 5VDC for added safety and ease of maintenance.

Plug in and Pump
All 240V single phase units up to 2.2kW come completely pre-wired with power leads and three pin plug
for connection to G.P.O. – no need for an electrician on site. Larger single phase and all three phase units
simply require connection to power by an electrician.

DOL or Soft Start
All 5.5 and 7.5kW, three phase units are available in both DOL or soft start versions to satisfy the
requirements of various power authorities.

Proven Dependability
The Davey VM pumps and supercell tanks have proven themselves around the world. All VM vertical
multistage pump hydraulic parts are manufactured from 304 stainless steel, providing corrosion protection.

High Efficiency
Powered by an IP55 motor suitable for some of the harshest operating conditions.  All three phase motors
comply with the high efficiency MEPS (Minimum Energy Performance Standards) requirements.

F E AT U R E S  &  B E N E F I T S

C O M M O N  F E AT U R E S  &  B E N E F I T S

NOTE:  CURVE TOLERANCE IN CONFORMITY WITH ISO9906 APPENDIX A. NOTE:  CURVE TOLERANCE IN CONFORMITY WITH ISO9906 APPENDIX A.

FLC Start/LRC Bearings
Motor Frame IP Rating 240 V Ratio RPM Eff % Drive End Non-D/End

0.75 80 V18 IP55 4.38 5.83 2815 72 6204-ZZ 6204-ZZ
1.1 80 V18 IP55 6.38 5.65 2830 75 6204-ZZ 6204-ZZ
1.5 90 V18 IP55 8.08 5.57 2850 76 6205-ZZ 6205-ZZ
2.2 90 V18 IP55 12.0 4.59 2830 77 6205-ZZ 6205-ZZ
3.0 100 V18 IP55 18.0* 5.0 2870 81 6206-ZZ 6205-ZZ
4.0 112 V18 IP55 22.0* 6.4 2910 84 6207-ZZ 6206-ZZ

M O T O R  T E C H N I C A L  S P E C I F I C AT I O N S

*For 480V single phase operation multiply by 0.5.

FLC Start/LRC Bearings
Motor Frame IP Rating 415 V Ratio RPM Eff % Drive End Non-D/End

0.75 80 V18 IP55 1.6 5.5 2800 89.0 6204-ZZ 6204-ZZ
1.1 80 V18 IP55 2.2 6.2 2828 82.4 6204-ZZ 6204-ZZ
1.5 90 V18 IP55 3.1 5.3 2800 78.0 6205-ZZC3 6205-ZZC3
2.2 90 V18 IP55 4.2 6.7 2800 85.0 6205-ZZC3 6205-ZZC3
3 100 V18 IP55 5.7 6.8 2853 86.2 6206-ZZC3 6206-ZZC3
4 112 V18• IP55 7.3 6.7 2902 86.8 6306-S 6306-S
5.5 132 V1• IP55 9.8 7.4 2916 89.9 7308B 6308ZZC3
7.5 132 V1• IP55 13.3 7.4 2892 87.0 7308B 6308ZZC3

•Special motor bearings fitted for thrust management.

H Y D R A U L I C  P E R F O R M A N C E

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

20

40

60

80

100

120

140

160

0.0 0.4 0.8 1.2 1.6 2.0 2.4 2.8 3.2 3.6 4.0 4.4

0.0 0.2 0.4 0.6 0.8 1.21.0

VM3
50Hz

VM3-8 (0.75)

VM3-12 (1.1)

VM3-15 (1.5)

VM3-17 (1.5)

VM3-19 (2.2)

VM3-23 (2.2)

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

1.8

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

10

20

30

40
50

60

70
80

90
100
110

120

130

140

150

160

170

180

190

200

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 5.5 6.0 6.5 7.0 7.5 8.0 8.5

0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.2

VM5-5 (1.1)

VM5-7 (1.5)

VM5-8 (1.5)

VM5-10 (2.2)

VM5-12 (3.0)

VM5-14 (3.0)

VM5-16 (3.0)

VM5
50Hz

V M 3 ,  2  P O L E  5 0 H z V M 5 ,  2  P O L E  5 0 H z M AT E R I A L S  O F  C O N S T R U C T I O N

PA R T M AT E R I A L

Pump attachment base

Suction & discharge casing

Motor support lantern

Impellers

Stages (casing)

Outside sleeve

Pump shaft

Intermediate bearing

Mechanical seal

Orings (casing)

Plugs (drainage & priming)

Impeller neck rings

Cast iron

304 stainless steel

Cast iron

304 stainless steel

304 stainless steel

304 stainless steel

316L stainless steel

Tungsten carbide

Silicon carbide/carbon/EPDM

EPDM

316L stainless steel

Teflon

NOTE: 304 stainless steel, (Z6 CN 18.9) and 316L
stainless steel (Z2 CND 17.12) are recommended
materials that are highly resistant to corrosion.
Suitable for pumping clean, clear non-viscous liquids,
containing no fibres or solids.  Maximum sand/silica
concentration 40 g/m3.

* Special version with 316L stainless steel & viton orings on request



T E C H N I C A L  S P E C I F I C AT I O N S T E C H N I C A L  S P E C I F I C AT I O N S T E C H N I C A L  S P E C I F I C AT I O N S

H Y D R A U L I C  P E R F O R M A N C E

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

10

20

30

40

50

60

70

80

90

100

110

120

130

140

150

160

170

180

0 1 2 3 4 5 6 7 8 9 10 11 12 13

0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.2 2.4 2.6 2.8 3.0 3.2 3.4 3.6

VM10-4 (1.5)
VM10-5 (2.2)

VM10-6 (2.2)

VM10-7 (3.0)

VM10-8 (3.0)

VM10-9 (4.0)

VM10-10 (4.0)

VM10-12 (5.5)

VM10-14 (5.5)

VM10
50Hz

0.0

0.2

0.4

0.6

0.8

1.0

TOTAL HEAD (m)P(MPa)

0

10

20

30

40

50

60

70

80

90

100

110

Q(m3/hr) 0 2 4 6 8 10 12 14 16 18 20 22 24

Q(l/s) 0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 5.5 6.0 6.5

VM16-2 (2.2)

VM16-3 (3.0)

VM16-4 (4.0)

VM16-5 (5.5)

VM16-6 (5.5)

VM16
50Hz

V M 1 0 ,  2  P O L E  5 0 H z V M 1 6 ,  2  P O L E  5 0 H z

TOTAL HEAD (m)P(MPa)

0.0

0.2

0.4

0.6

0.8

1.0

0

20

40

60

80

100

120

Q(m3/hr) 0 4 8 12 16 20 24 28 32 36 40 44

Q(l/s) 0 2 4 6 8 10 12

VM32-2A (4.0)

VM32-3 (5.5)

VM32-4 (7.5)

VM32
50Hz

V M 3 2 ,  2  P O L E  5 0 H z

RVM Water Pressure System
The packaged water pressure version consists of a Davey VM vertical multistage pump, with the choice of
either a 24 litre, or 105 litre pressure tank, manifold, adjustable pressure switch, liquid filled pressure gauge,
check and isolation valves all mounted on a common base plate. (Note: the 105 litre tank is free standing).

RVM Water Pressure System with Loss-of-Prime Protection
The loss-of-prime version uses all of the components of the water pressure version and adds a control box
and flow switch. This provides the benefit of protecting the pump in no-flow situations, such as loss-of-
prime and dead head.  

The control box offers Auto, Off and Manual control. Manual control will automatically switch over to
Automatic control after 2.5 minutes in order to ensure pump protection.

The control box provides indicators such as Power On, Pump Run, Low Flow Alarm and Pump Overload.  In
a fault condition, the control box provides a light and audible alarm. The audible alarm ceases after 5 minutes.

Because the system is started by pressure and stopped on flow, it is able to provide continuing, though
partial, automatic operation in situations where the pump is unable to make the cut-out pressure point.
For example, where some rubbish has been sucked into the suction line to cause partial restriction. While
the alarm will be activated, the pump will restart so long as there is some flow demand.

RVM Remote Start/LOP Pump Set 
The remote start/LOP version includes a Davey VM vertical multistage pump, manifold, liquid filled
pressure gauge, remote start control box, flow switch, check and isolation valves all mounted on a
common base.

The pump is turned on and off by a 24VAC signal to the control box, which is ideal for use with irrigation
controllers and external sensors.  The control box provides pump protection in no-flow situations, such
as loss of prime or stuck closed irrigation valve.

Fully Assembled
Systems are supplied fully assembled for ease of mounting – Supercell 105C tanks are supplied free
standing. Optional 304 stainless steel base plates are also available.

Extra Low Voltage Controls
All pressure and flow switches for LOP models are 5VDC for added safety and ease of maintenance.

Plug in and Pump
All 240V single phase units up to 2.2kW come completely pre-wired with power leads and three pin plug
for connection to G.P.O. – no need for an electrician on site. Larger single phase and all three phase units
simply require connection to power by an electrician.

DOL or Soft Start
All 5.5 and 7.5kW, three phase units are available in both DOL or soft start versions to satisfy the
requirements of various power authorities.

Proven Dependability
The Davey VM pumps and supercell tanks have proven themselves around the world. All VM vertical
multistage pump hydraulic parts are manufactured from 304 stainless steel, providing corrosion protection.

High Efficiency
Powered by an IP55 motor suitable for some of the harshest operating conditions.  All three phase motors
comply with the high efficiency MEPS (Minimum Energy Performance Standards) requirements.

F E AT U R E S  &  B E N E F I T S

C O M M O N  F E AT U R E S  &  B E N E F I T S

NOTE:  CURVE TOLERANCE IN CONFORMITY WITH ISO9906 APPENDIX A. NOTE:  CURVE TOLERANCE IN CONFORMITY WITH ISO9906 APPENDIX A.

FLC Start/LRC Bearings
Motor Frame IP Rating 240 V Ratio RPM Eff % Drive End Non-D/End

0.75 80 V18 IP55 4.38 5.83 2815 72 6204-ZZ 6204-ZZ
1.1 80 V18 IP55 6.38 5.65 2830 75 6204-ZZ 6204-ZZ
1.5 90 V18 IP55 8.08 5.57 2850 76 6205-ZZ 6205-ZZ
2.2 90 V18 IP55 12.0 4.59 2830 77 6205-ZZ 6205-ZZ
3.0 100 V18 IP55 18.0* 5.0 2870 81 6206-ZZ 6205-ZZ
4.0 112 V18 IP55 22.0* 6.4 2910 84 6207-ZZ 6206-ZZ

M O T O R  T E C H N I C A L  S P E C I F I C AT I O N S

*For 480V single phase operation multiply by 0.5.

FLC Start/LRC Bearings
Motor Frame IP Rating 415 V Ratio RPM Eff % Drive End Non-D/End

0.75 80 V18 IP55 1.6 5.5 2800 89.0 6204-ZZ 6204-ZZ
1.1 80 V18 IP55 2.2 6.2 2828 82.4 6204-ZZ 6204-ZZ
1.5 90 V18 IP55 3.1 5.3 2800 78.0 6205-ZZC3 6205-ZZC3
2.2 90 V18 IP55 4.2 6.7 2800 85.0 6205-ZZC3 6205-ZZC3
3 100 V18 IP55 5.7 6.8 2853 86.2 6206-ZZC3 6206-ZZC3
4 112 V18• IP55 7.3 6.7 2902 86.8 6306-S 6306-S
5.5 132 V1• IP55 9.8 7.4 2916 89.9 7308B 6308ZZC3
7.5 132 V1• IP55 13.3 7.4 2892 87.0 7308B 6308ZZC3

•Special motor bearings fitted for thrust management.

H Y D R A U L I C  P E R F O R M A N C E

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

20

40

60

80

100

120

140

160

0.0 0.4 0.8 1.2 1.6 2.0 2.4 2.8 3.2 3.6 4.0 4.4

0.0 0.2 0.4 0.6 0.8 1.21.0

VM3
50Hz

VM3-8 (0.75)

VM3-12 (1.1)

VM3-15 (1.5)

VM3-17 (1.5)

VM3-19 (2.2)

VM3-23 (2.2)

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

1.8

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

10

20

30

40
50

60

70
80

90
100
110

120

130

140

150

160

170

180

190

200

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 5.5 6.0 6.5 7.0 7.5 8.0 8.5

0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.2

VM5-5 (1.1)

VM5-7 (1.5)

VM5-8 (1.5)

VM5-10 (2.2)

VM5-12 (3.0)

VM5-14 (3.0)

VM5-16 (3.0)

VM5
50Hz

V M 3 ,  2  P O L E  5 0 H z V M 5 ,  2  P O L E  5 0 H z M AT E R I A L S  O F  C O N S T R U C T I O N

PA R T M AT E R I A L

Pump attachment base

Suction & discharge casing

Motor support lantern

Impellers

Stages (casing)

Outside sleeve

Pump shaft

Intermediate bearing

Mechanical seal

Orings (casing)

Plugs (drainage & priming)

Impeller neck rings

Cast iron

304 stainless steel

Cast iron

304 stainless steel

304 stainless steel

304 stainless steel

316L stainless steel

Tungsten carbide

Silicon carbide/carbon/EPDM

EPDM

316L stainless steel

Teflon

NOTE: 304 stainless steel, (Z6 CN 18.9) and 316L
stainless steel (Z2 CND 17.12) are recommended
materials that are highly resistant to corrosion.
Suitable for pumping clean, clear non-viscous liquids,
containing no fibres or solids.  Maximum sand/silica
concentration 40 g/m3.

* Special version with 316L stainless steel & viton orings on request



RVM SERIES
PACKAGED WATER PRESSURE SYSTEMS
UP TO 40m3/hr

P R O D U C T
D E S C R I P T I O N

RVM pumpsets are a single pump
packaged system that comes in three
versions.

1. RVM Water Pressure System
2. RVM Water Pressure System

with LOP Control Box
3. RVM Remote Start/LOP Pump Set

A P P L I C AT I O N S

Automatic water pressure system for:
• Irrigation & turf watering
• Stock watering
• Water supply, boosting & transfer
• Industrial applications
• Water treatment

O P E R AT I N G  L I M I T S

Capacities to 11 l/s ( 40m3/hr)

Pressure heads to 160 m

Maximum liquid
temperature +70oC (tank)

Maximum ambient
temperature +40oC

Maximum inlet Limited by max.
pressure operating pressure

Maximum operating pressure
with 105C Tank 70m/700kPa

Maximum operating pressure
with HP105C Tank 105m/1050kPa

Maximum operating pressure
with HP24+ Tank 160m/1600kPa

Suitable Fluids
Clean, clear, non-corrosive, non-
flammable liquids with no fibres and
little sand/silica or abrasives (maximum
concentration 40g/m3).

PACKAGED WATER
PRESSURE SYSTEMS

I D E N T I F I C AT I O N  O F  T H E  P U M P  S E T

RVM 3 - 8   A/3 - 24 - L

Control Box
L = LOP control box
LSS = LOP control box with soft starter
LR = Remote start LOP control box
LSR = Remote start LOP control box with soft starter

Size of pressure tank
24 = HP24 + 24 litre tank
105 = 105C, or HP105C (when required) 105 litre tank
Blank = no tank (only with remote start models)

Motor fitted
Blank = Single phase
/3 = Three phase

Impeller variation
(A =  manufacture turndown)

Number of stages

Nominal capacity at BEP in m3/hr

RVM Pump Set

T E C H N I C A L  S P E C I F I C AT I O N S T E C H N I C A L  S P E C I F I C AT I O N S

1. RVM Water Pressure System

2. RVM Water Pressure System with LOP Control Box

3. RVM Remote Start/LOP Control Box

WAT E R  P R E S S U R E  S Y S T E M  W I T H  2 4  L I T R E  TA N K

WAT E R  P R E S S U R E  S Y S T E M  W I T H  L O P  C O N T R O L  B O X  A N D  2 4  L I T R E  TA N K

WAT E R  P R E S S U R E  S Y S T E M  W I T H  1 0 5  L I T R E  TA N K

WAT E R  P R E S S U R E  S Y S T E M  W I T H  L O P  C O N T R O L  B O X  A N D  1 0 5  L I T R E  TA N K

R E M O T E  S TA R T / L O P  P U M P  S E T

Specific dimensions for each model available on request. Davey reserves the right to change dimensions and configurations without notice.

Specific dimensions for each model available on request. Davey reserves the right to change dimensions and configurations without notice.

Loss of
Prime

Protection

Loss of
Prime

Protection
Remote

Start

DPM248-2a/3K/1110/IPM supercedes DPM248-2/3K/1110/IPM

Davey Water Products Pty Ltd
Member of the GUD Group
ABN 18 066 327 517

AUSTRALIA
Head Office and Manufacturing
6 Lakeview Drive,
Scoresby, Australia 3179
Ph: +61 3 9730 9222
Fax: +61 3 9753 4100
Website: davey.com.au

Customer Service Centre
Ph: 1300 369 100
Fax: 1300 369 119
E-mail: sales@davey.com.au

NEW ZEALAND
7 Rockridge Avenue,
Penrose, Auckland 1061
Ph: +64 9 570 9135
Fax: +64 9 527 7654
E-mail: sales@daveynz.co.nz
Website: daveynz.co.nz

Customer Service Centre
Ph: 0800 654 333

REST OF WORLD
6 Lakeview Drive,
Scoresby, Australia 3179
Ph: +61 3 9730 9121
Fax: +61 3 9753 4248
E-mail: export@davey.com.au
Website: davey.com.au

This literature is not a complete guide to product usage. Further information is available from your Davey dealer, Davey Customer Service Centre and from
the relevant product Installation and Operating Instructions. This data sheet must be read in conjunction with the relevant product Installation and
Operating Instructions and all applicable statutory requirements.  Product specifications may change without notice.
® Davey is a registered trademark of Davey Water Products Pty Ltd.  © Davey Water Products Pty Ltd 2011.

Environment
ISO 14001

H
/O

 &
 M

F
G

 S
C

O
R

E
S

B
Y

Quality
ISO 9001

H
/O

 &
 M

F
G

 S
C

O
R

E
S

B
Y



RVM SERIES
PACKAGED WATER PRESSURE SYSTEMS
UP TO 40m3/hr

P R O D U C T
D E S C R I P T I O N

RVM pumpsets are a single pump
packaged system that comes in three
versions.

1. RVM Water Pressure System
2. RVM Water Pressure System

with LOP Control Box
3. RVM Remote Start/LOP Pump Set

A P P L I C AT I O N S

Automatic water pressure system for:
• Irrigation & turf watering
• Stock watering
• Water supply, boosting & transfer
• Industrial applications
• Water treatment

O P E R AT I N G  L I M I T S

Capacities to 11 l/s ( 40m3/hr)

Pressure heads to 160 m

Maximum liquid
temperature +70oC (tank)

Maximum ambient
temperature +40oC

Maximum inlet Limited by max.
pressure operating pressure

Maximum operating pressure
with 105C Tank 70m/700kPa

Maximum operating pressure
with HP105C Tank 105m/1050kPa

Maximum operating pressure
with HP24+ Tank 160m/1600kPa

Suitable Fluids
Clean, clear, non-corrosive, non-
flammable liquids with no fibres and
little sand/silica or abrasives (maximum
concentration 40g/m3).

PACKAGED WATER
PRESSURE SYSTEMS

I D E N T I F I C AT I O N  O F  T H E  P U M P  S E T

RVM 3 - 8   A/3 - 24 - L

Control Box
L = LOP control box
LSS = LOP control box with soft starter
LR = Remote start LOP control box
LSR = Remote start LOP control box with soft starter

Size of pressure tank
24 = HP24 + 24 litre tank
105 = 105C, or HP105C (when required) 105 litre tank
Blank = no tank (only with remote start models)

Motor fitted
Blank = Single phase
/3 = Three phase

Impeller variation
(A =  manufacture turndown)

Number of stages

Nominal capacity at BEP in m3/hr

RVM Pump Set

T E C H N I C A L  S P E C I F I C AT I O N S T E C H N I C A L  S P E C I F I C AT I O N S

1. RVM Water Pressure System

2. RVM Water Pressure System with LOP Control Box

3. RVM Remote Start/LOP Control Box

WAT E R  P R E S S U R E  S Y S T E M  W I T H  2 4  L I T R E  TA N K

WAT E R  P R E S S U R E  S Y S T E M  W I T H  L O P  C O N T R O L  B O X  A N D  2 4  L I T R E  TA N K

WAT E R  P R E S S U R E  S Y S T E M  W I T H  1 0 5  L I T R E  TA N K

WAT E R  P R E S S U R E  S Y S T E M  W I T H  L O P  C O N T R O L  B O X  A N D  1 0 5  L I T R E  TA N K

R E M O T E  S TA R T / L O P  P U M P  S E T

Specific dimensions for each model available on request. Davey reserves the right to change dimensions and configurations without notice.

Specific dimensions for each model available on request. Davey reserves the right to change dimensions and configurations without notice.

Loss of
Prime

Protection

Loss of
Prime

Protection
Remote

Start

DPM248-3/3K/0811/IPM supercedes DPM248-2a/0311/WEB & DPM248-2/3K/1110/IPM

Davey Water Products Pty Ltd
Member of the GUD Group
ABN 18 066 327 517

AUSTRALIA
Head Office and Manufacturing
6 Lakeview Drive,
Scoresby, Australia 3179
Ph: +61 3 9730 9222
Fax: +61 3 9753 4100
Website: davey.com.au

Customer Service Centre
Ph: 1300 369 100
Fax: 1300 369 119
E-mail: sales@davey.com.au

NEW ZEALAND
7 Rockridge Avenue,
Penrose, Auckland 1061
Ph: +64 9 570 9135
Fax: +64 9 527 7654
E-mail: sales@daveynz.co.nz
Website: daveynz.co.nz

Customer Service Centre
Ph: 0800 654 333

REST OF WORLD
6 Lakeview Drive,
Scoresby, Australia 3179
Ph: +61 3 9730 9121
Fax: +61 3 9753 4248
E-mail: export@davey.com.au
Website: davey.com.au

This literature is not a complete guide to product usage. Further information is available from your Davey dealer, Davey Customer Service Centre and from
the relevant product Installation and Operating Instructions. This data sheet must be read in conjunction with the relevant product Installation and
Operating Instructions and all applicable statutory requirements.  Product specifications may change without notice.
® Davey is a registered trademark of Davey Water Products Pty Ltd.  © Davey Water Products Pty Ltd 2011.

Environment
ISO 14001

H
/O

 &
 M

F
G

 S
C

O
R

E
S

B
Y

Quality
ISO 9001

H
/O

 &
 M

F
G

 S
C

O
R

E
S

B
Y



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




